It is my decision!
Answer key

1. Two hundred thousand pounds. (200,000)
2. “Mrs. Wood nearly fainted.”

3. Because they knew more about football than she did and they never expected

her to win.

Choose the correct answer, then write the letter in the box.

1. C
2.D

3. Mr. Wood, Ron and Diane.

Q4: Match the characters.
1. Mrs. Wood - E
2. Mr. Wood —A
3. Diane-D

4. Ron-B

Q5: Profits.
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Q6: Diane thought that Ron was selfish because she believes that money ruins

people’s lives.

Q7:B

Q8: B

Q9: B

Q10: Mrs Wood decided to give each person in her family some of the money she won

and keep the rest for herself because she was the one who won the cheque. This

shows that she is both firm and kind.



